R~ BIEE FTRBE E#E 01
1. ROMIZEZ L. (SHh45®, A1 2308, B2 408, CHk44)

(1) HEAZAKABCHE >3 HAN12em ETBEI LT, ADEF 274572,
AB=12cm, BC=8cm &9 5. 4 CADPEN/=HLDOHEERD K.

(2) EA=ZAK ABCPE->7 AN 12em FTHBEIL T, ADEF 27457z,
AB=12cm, BC=8cm &9 %. A ABC B#)\\7=H & DHEFEZE KD L.
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2. MOMIZEAL. (SHh45®, A1 30%, Bik27340%, Cik4n )

(1) EA=ZAMAFK ABC 2 ZE->9 < EA15em FFBE LT, ADEF 2745 7.
AB=12cm, BC=16cm &9 5. 1 CADE\\7-H L DHEERD &.
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(2) EAZMAFK ABC 2P ZE->9 < EA15em FBE LT, ADEF 27457z,
AB=12cm, BC=16cm &3 5. A ABC 281\ 7=H & DfifE % ked L.
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R#ETRA N BIKF FT%E EE 01 BEESR
IROBNZEZ X, (SHAST, A1 308, B#2040%, C#an)

(1) HEAZAKABCHE >3 HAN12em ETBEI LT, ADEF 274572,
AB=12cm, BC=8cm &3 5. CADH\=H & DHEfEERD &.

A.-12am... D KBNEHED THe] BEHED [HE] ]
Kb BHMIL, X DORERRD (FATIULIE ACFD) (27 %.
: * b2 TWBZ EIFHEICEZAD |
12gm * XEEF
. RHHR O = 7L Z ACFD
B SN0 - F =Bl < H S
“Sem” 12em” =12 x 12 = 144 cm?

(2) EA=ZMFK ABCHE->T AN 12em FIrBE LT, A DEF 2757z,
AB=12cm, BC=8cm ¥ 95%. A ABC D8\ /=5 & DHEEE KD L.

A 12an D X BNEHED (HE] HEHED [HE] |
kb B IE, ZRIORERTS (B ABFD) 12725
: * HOM>TWBZ EIFHICEZAD !
e * REEF I
- RO HIM = A ABFD
B O E  F :4L@+W@x%éx%
sem tzem = (12 +20) x 12 x % — 192 cm?
pAg; i

(1)+AABC:144+12><8><%:144+48:192cm2

© B2 - HEEER L7291 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

ROMIZEZ L. (SHk45 8, AFR1230%, Bi2240%, CHh4an)

(1) EA=ZAMAFK ABC 2 ZE->9 < EA15em FFBE LT, ADEF 2745 7.
AB=12cm, BC=16cm &§ 5. 4 CA &)\ 7-db L DEEZ KD K.

D
] * BWEHED THE] ERHED THE ]!
. Kb BHERN, RO (CEAFUEK ACFD) 1275 5.
: K O >TWVWBZ EFBICEZRED !
E, F * RE® 1
Al ™, BHRIBO TR = FAFIJE ACFD
3 } — I X
,- 15cm = 15 x 16 = 240 cm?
12_‘cm H
“tl ’,'
B - - C

(2) EMA=ZMEABC P E > < EAN15em FIFBEIL T, ADEF 24577,
AB=12cm, BC=16cm &3 5. A ABC 2’8\ /=H L DHEEE KD K.

D
] * BWeHED THe] BRHED THE ]!
15 sked BRI, ZEHORHRIS (G ABFD) 12725
: * O TWB I EIERICEERAD |
o} u * REE 1
Al ‘ RSSO TR = A% ABFD
4 B — (LR + TH) < B x +
: 15cm 1
12cm : = (15 +27) x 16 x 5= 336 cm?
. . pAgill)i
B -0 (1) + A ABC = 240 + 12 x 16 X = = 240 + 96 = 336 cm?
“16cm* 2
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